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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 5.01 62.49 | FnLSY | 0.00 ~ 501|230 11.61 st 1.00 | 6.00 ~ 8.80 62.49 | TSt | 5,00 ~ 880 2.30 11.61
2 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.63 70.39 | TS | 000 ~ 563|226 11.45 st 1.00 | 5.00 ~ 9.90 70.39 | TS | 65,00 ~ 9.90 | 2.26 11.45
3 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 702 89.12 | #nSt | 000 ~ 7.02| 2.60 1313 st 1.00 | 6.00 ~ 1120 89.12 | #n4 | 5,00 ~ 11.20| 2.60 13.13
4 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 748 95.55 | #nRS | 000 ~ 748 | 2.567 13.01 st 1.00 | 6.00 ~ 1220 95.55 | =hLS | 5.00 ~ 1220| 2.57 13.01
5 100kN/m%EBZ5| 1.00 000 ~ 016 10228 |3mEBZ5 -~ - - -] 100kN/ %825 | 1.00 | 1069 ~ 11.10| 10228 |3m%EiBz% -~
s 1.00 | 016 ~ 7.94 100.00 | =nlst | 000 ~ 7.94 | 2.28 11.53 st 1.00 | 6.00 ~ 10.69 100.00 | =hst | 6.00 ~ 1110] 2.28 11.58
P 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 740 94.38 | =hLS | 000 ~ 000 1.74 879 st 1.00 | 6.00 ~ 9.60 94.38 | =hS | 5.00 ~ 9.60| 1.74 879
- 100kN/m%E#BZ5| 1.00| 000 ~ 066 109.77 |3mEEZS -~ - - -] 100kN/ %825 | 1.00 | 10563 ~ 1240 109.77 |3m%E#BZ% -~
s 1.00 | 0.66 ~ 844 100.00 | #nst | 0.00 ~ 844 | 2.19 11.06 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 1240| 2.19 11.06
P 100kN/m%EBZ5 | 1.00| 000 ~ 043 106.30 |3mEEZS -~ - - -] 100kN/mZ#8z% | 1.00 | 1054 ~ 11.70| 106.30 |3mZE#BZ5 -~
s 1.00 | 043 ~ 821 100.00 | =St | 000 ~ 821|221 11.16 st 1.00 | 6.00 ~ 1054 100.00 | #nLsy | 6,00 ~ 11.70) 2.21 11.16
9 100kN/m##Bx5 | 1.00 | 0.00 ~ 031 104.60 |3m%E#BZ5 -~ - - -] 100kN/ %825 | 1.00 | 1055 ~ 11.40| 104.60 |3m%E#BZ% -~
s 1.00 | 031 ~ 810 100.00 | #nlst | 000 ~ 810\ 2.16 10.91 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 11.40)] 2.16 10.91
10 100kN/m%E#8z5 | 1.00 | 000 ~ 068 110.06 |3mEBz% -~ - - -| 100kN/M%#8Z5 | 1.00 | 1065 ~ 1270 110.06 |3mEBZB -~
s 1.00 | 0.68 ~ 846 100.00 | =St | 000 ~ 846 | 2.11 10.68 st 1.00 | 6.00 ~ 1065 100.00 | =hst | 6.00 ~ 1270 2.11 10.68
11 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 7.56 96.80 | #nS | 000 ~ 756 | 2.15 10.86 st 1.00 | 6.00 ~ 10.00 96.80 | =nst | 5,00 ~ 1000| 2.15 10.86
12 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -] 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 6.34 79.73 | FnLSY | 000 ~ 634 | 201 10.13 st 1.00 | 6.00 ~ 8.50 79.73 | TNLS | 6.00 ~ 850 | 2.01 10.13
13 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 721 91.79 | =hLs | 000 ~ 000 1.69 8.66 st 1.00 | 5.00 ~ 9.30 91.79 | #h4 | 5.00 ~ 9.30| 1.69 8.66
14 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 475 59.20 | #nRS | 000 ~ 4.75| 1.78 9.00 st 1.00 | 6.00 ~ 5.00 59.20 | =ns | 5.00 ~ 6.00| 1.78 9.00
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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